



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 7th Semester Morning Session: Autumn 2025

Registration #	Name	COM 112					ELE 414					ELE 415					ELIN 116					ELIN 324					ELIT 322				
		Islamic Studies					Essays and Short Stories					Teaching of English as Foreign/Second Language (TEFL/TESL)					Introduction to Linguistics					Psycholinguistics					Poetry-II (Romantic & Modern Poetry)				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
AH/2/05262/E/ENG/2022-1	Muhammad Younus	-	-	-	-	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/001	Abdul Hafeez	-	-	-	-	76	B+	3.5	3	10.5	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/004	Aima Ameen	-	-	-	-	70	B	3.0	3	9.0	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/005	Aima Rubab	-	-	-	-	80	A	4.0	3	12.0	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/007	Amina Bibi	-	-	-	-	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/008	Areeba Aziz	-	-	-	-	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/009	Ayesha Rehman	-	-	-	-	71	B	3.0	3	9.0	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/015	Farrukh Sajjad Khan	-	-	-	-	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
IS/BS/ENG/A-22/M/A/016	Ghulam Murtaza	-	-	-	-	72	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/017	Hajra Anwar	-	-	-	-	80	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/018	Hajra Noureen (Withheld due to Fe	-	-	-	-											-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/021	Humma Habib	-	-	-	-	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/022	Iftekhar Ahmad	-	-	-	-	60	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/023	Iqra Shaheen	-	-	-	-	70	B	3.0	3	9.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/024	Jawaria Shahzadi	-	-	-	-	81	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/035	Muhammad Mohsin Khan (25,000/-	-	-	-	-											-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/036	Muhammad Owais	-	-	-	-	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/037	Muhammad Shoaib	-	-	-	-	55	C	2.0	3	6.0	62	C	2.0	3	6.0	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/038	Muhammad Uzair	-	-	-	-	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/045	Sheikh Ahmad Raza	-	-	-	-	65	C+	2.5	3	7.5	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/047	Sohail Ahmed (Withheld due to Fee	-	-	-	-											-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/A/048	Tayyiba Shafqat	-	-	-	-	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/B/002	Arifa Parveen	70	B	3.0	3	9.0	71	B	3.0	3	9.0	80	A	4.0	3	12.0	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/B/007	Faraz Zafar	-	-	-	-	15	F	-	3	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/B/008	Hamza Latif	-	-	-	-	65	C+	2.5	3	7.5	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/B/009	Hifza Saeed	-	-	-	-	66	C+	2.5	3	7.5	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/B/010	Iqra Saeed	-	-	-	-	72	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/B/011	Malaika Ismail	-	-	-	-	75	B+	3.5	3	10.5	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-22/M/B/012	Malaika Nawaz	-	-	-	-	66	C+	2.5	3	7.5	63	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 7th Semester Morning Session: Autumn 2025

		ELIT 323					ELIT 411					ELIT 413					ENG 412				
		Drama-II					Novel-II					American Literature					Introduction to Research Methodology				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
AH/2/05262/E/ENG/2022-1	Muhammad Younus	-	-	-	-	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	61	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/A/001	Abdul Hafeez	-	-	-	-	81	A	4.0	3	12.0	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	
IS/BS/ENG/A-22/M/A/004	Aima Ameen	-	-	-	-	70	B	3.0	3	9.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/A/005	Aima Rubab	-	-	-	-	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5	
IS/BS/ENG/A-22/M/A/007	Amina Bibi	-	-	-	-	70	B	3.0	3	9.0	55	C	2.0	3	6.0	67	C+	2.5	3	7.5	
IS/BS/ENG/A-22/M/A/008	Areeba Aziz	-	-	-	-	72	B	3.0	3	9.0	60	C	2.0	3	6.0	57	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/A/009	Ayesha Rehman	-	-	-	-	71	B	3.0	3	9.0	58	C	2.0	3	6.0	75	B+	3.5	3	10.5	
IS/BS/ENG/A-22/M/A/015	Farrukh Sajjad Khan	-	-	-	-	75	B+	3.5	3	10.5	66	C+	2.5	3	7.5	70	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/A/016	Ghulam Murtaza	-	-	-	-	72	B	3.0	3	9.0	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/A/017	Hajra Anwar	-	-	-	-	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	76	B+	3.5	3	10.5	
IS/BS/ENG/A-22/M/A/018	Hajra Noureen (Withheld due to Fe	-	-	-	-																
IS/BS/ENG/A-22/M/A/021	Humma Habib	-	-	-	-	75	B+	3.5	3	10.5	60	C	2.0	3	6.0	68	C+	2.5	3	7.5	
IS/BS/ENG/A-22/M/A/022	Iftexhar Ahmad	-	-	-	-	71	B	3.0	3	9.0	50	D	1.5	3	4.5	71	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/A/023	Iqra Shaheen	-	-	-	-	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	58	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/A/024	Jawaria Shahzadi	-	-	-	-	80	A	4.0	3	12.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/A/035	Muhammad Mohsin Khan (25,000/-	-	-	-	-																
IS/BS/ENG/A-22/M/A/036	Muhammad Owais	-	-	-	-	81	A	4.0	3	12.0	65	C+	2.5	3	7.5	72	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/A/037	Muhammad Shoaib	-	-	-	-	28	F	-	3	-	50	D	1.5	3	4.5	45	F	-	3	-	
IS/BS/ENG/A-22/M/A/038	Muhammad Uzair	-	-	-	-	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	60	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/A/045	Sheikh Ahmad Raza	-	-	-	-	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	61	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/A/047	Sohail Ahmed (Withheld due to Fee	-	-	-	-																
IS/BS/ENG/A-22/M/A/048	Tayyiba Shafqat	-	-	-	-	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	59	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/B/002	Arifa Parveen	-	-	-	-	75	B+	3.5	3	10.5	59	C	2.0	3	6.0	57	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/B/007	Faraz Zafar	39	F	-	3	25	F	-	3	-	37	F	-	3	-	27	F	-	3	-	
IS/BS/ENG/A-22/M/B/008	Hamza Latif	-	-	-	-	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	
IS/BS/ENG/A-22/M/B/009	Hifza Saeed	-	-	-	-	57	C	2.0	3	6.0	50	D	1.5	3	4.5	50	D	1.5	3	4.5	
IS/BS/ENG/A-22/M/B/010	Iqra Saeed	-	-	-	-	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	55	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/B/011	Malaika Ismail	-	-	-	-	84	A	4.0	3	12.0	61	C	2.0	3	6.0	72	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/B/012	Malaika Nawaz	-	-	-	-	65	C+	2.5	3	7.5	51	D	1.5	3	4.5	55	C	2.0	3	6.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 7th Semester Morning Session: Autumn 2025

Registration #	Name	COM 112					ELE 414					ELE 415					ELIN 116					ELIN 324					ELIT 322				
		Islamic Studies					Essays and Short Stories					Teaching of English as Foreign/Second Language (TEFL/TESL)					Introduction to Linguistics					Psycholinguistics					Poetry-II (Romantic & Modern Poetry)				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-22/M/B/015	Muhammad Ateeb Azhar	-	-	-	-	61	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/020	Muhammad Zeeshan Ahmed	-	-	-	-	65	C+	2.5	3	7.5	68	C+	2.5	3	7.5	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/028	Rana Muhammad Zawar	-	-	-	-	65	C+	2.5	3	7.5	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/030	Sadia Shabir	-	-	-	-	70	B	3.0	3	9.0	68	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/036	Sehrish Iqbal Abbasi	-	-	-	-	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/038	Syed Talha Safdar	-	-	-	-	70	B	3.0	3	9.0	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/039	Taqdees Aziz	-	-	-	-	65	C+	2.5	3	7.5	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/041	Tooba Ishfaq	-	-	-	-	81	A	4.0	3	12.0	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/043	Urooj Kanwal	-	-	-	-	70	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/044	Urooj Khaleel	-	-	-	-	62	C	2.0	3	6.0	67	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/045	Uswa Eman	-	-	-	-	72	B	3.0	3	9.0	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/047	Zain Ali Nayyar	-	-	-	-	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BS (English) 7th Semester Morning Session: Autumn 2025

		ELIT 323					ELIT 411					ELIT 413					ENG 412				
		Drama-II					Novel-II					American Literature					Introduction to Research Methodology				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-22/M/B/015	Muhammad Ateeb Azhar	-	-	-	-	75	B+	3.5	3	10.5	50	D	1.5	3	4.5	60	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/B/020	Muhammad Zeeshan Ahmed	-	-	-	-	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5	46	F	-	3	-	
IS/BS/ENG/A-22/M/B/028	Rana Muhammad Zawar	-	-	-	-	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	55	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/B/030	Sadia Shabir	-	-	-	-	65	C+	2.5	3	7.5	55	C	2.0	3	6.0	55	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/B/036	Sehrish Iqbal Abbasi	-	-	-	-	75	B+	3.5	3	10.5	59	C	2.0	3	6.0	77	B+	3.5	3	10.5	
IS/BS/ENG/A-22/M/B/038	Syed Talha Safdar	-	-	-	-	57	C	2.0	3	6.0	50	D	1.5	3	4.5	50	D	1.5	3	4.5	
IS/BS/ENG/A-22/M/B/039	Taqdees Aziz	-	-	-	-	58	C	2.0	3	6.0	55	C	2.0	3	6.0	51	D	1.5	3	4.5	
IS/BS/ENG/A-22/M/B/041	Tooba Ishfaq	-	-	-	-	80	A	4.0	3	12.0	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/B/043	Urooj Kanwal	-	-	-	-	71	B	3.0	3	9.0	56	C	2.0	3	6.0	50	D	1.5	3	4.5	
IS/BS/ENG/A-22/M/B/044	Urooj Khaleel	-	-	-	-	71	B	3.0	3	9.0	51	D	1.5	3	4.5	55	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/B/045	Uswa Eman	-	-	-	-	80	A	4.0	3	12.0	57	C	2.0	3	6.0	71	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/B/047	Zain Ali Nayyar	-	-	-	-	82	A	4.0	3	12.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026